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-Finding Exact Values (Non-Calc)

~ -Solving Trig Equations
~ -Integrating with ldentities
~ -Integrating with U-sub

_-Integrating with Trig Substitutions '
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Exact VValues: Evaluate each of the
following without use of a Calculator.

1.

O U AT L LT AL L A

a)sin(5z/4) b)tan™ (—x@)
C) sec(—x) d) cos™ (g)
e) cot(495°)  f) csc(0)

\

Q) hysint (-1
i) csc(—60°) ) sect(—/2)

-
-
B2
-
2>
=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-
.
-
R
-
-
:.
-
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Trig Equations: Solve each of the following

= from [0,27], then state all solutions.

2.

L O O R I

a) sin® @ —-sin@=0

\

b) secfdcscHd =2cscH
c) 2sec’@+tan°9-3=0

d) sin®@—-cos® @ =1+cosé

=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-
-
-
R
I
- =
:.
-
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Integrating with Identities: Integrate each
of the following using an appropriate technique.

3.

O U AT L LT AL L A

\

c) J (sec” x + tan” x csc” x) dx

d) j (cos® @ +sin® @cosH)d o

-
-
B2
-
2>
=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-
.
-
R
I
- =
:.
-
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Integrating with U-Sub: Integrate each of

the following using an appropriate technique.

4.

LA R

a) j 10 csc(b5x) cot(5x) dx
b) j 4xcos® (x?)sin(x?) dx

tan> x €
4 d) dx
- j(1—sin2 ) jJ9-e2X

o[BI i,

\

-
-
B2
-
2>
=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-

-

-
R
-
-

:.
-




Integrating with Trig Substitutions: Integrate
each of the following using an appropriate technique.

D.

,hu\\\\,th\.,\

a)jxsin3(x2)dx

\

b) j 2 cos” (3x)dx

c)j—tan3(x)dx

-
-
B2
-
-
=
-
-
-
-
-
-
-
-
e
Ead
-
-
-
-
-
-
o
- =
:.
=
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SOLUTIONS

1, J_ 27 Sr

VU LU I AL A I I

\

f)nosolution g)und h)377z

-
-
B2
-
2>
=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-
.
-
R
. -
-
:.
-
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\

VU LU I AL A I I

-
-
B2
-
2>
=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-
.
-
R
. -
- =
:.
-

SOLUTIONS

'a) SeCX+C 4. a) —2csc(bx)+c

—cos*(x?) N
2
6
tan” (x) N
6 X
d) sin‘l(%)+c

b) cotx+cC b)
C) 2tan X+cC
d) sin@+c C)

C

C

e) tan*(secx)+c

f) —2cos(v/x)+c



\

SOLUTIONS

D.

VU LU I AL A I I

_ 37,2
a) 71cos(x2)+ cos(x) |

C

\

sin(12x) N sSin(6x) +§ ‘o
48 6 4
—sec’ X

2

—In|cos x|+c

-
-
B2
-
2>
=
£ 4
-
-
-
-
R
-
-
e
-
-
-
-
.
-
R
. -
- =
:.
-




